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QUESTION 1

Assuming table TAB_A resides in a DB2 9.7 database, what is one way to obtain an estimate of how much space could
be saved if this table were compressed? 

A. The ADMINGETTABCOMPRESSINFO table function. 

B. The ADMINGETTABCOMPRESSINFO_V97 table function. 

C. The ADMIN_GET_TAB_COMPRESS_INFO_V97 table function. 

D. The ADMIN_GET_TAB_INFO table function. 

Correct Answer: C 

 

 

QUESTION 2

When an agent that is connected to the database finishes its work of successfully processing a query, what happens to
the agent? 

A. It terminates immediately. 

B. It remains active as long as the MAXAGENTS setting is not exceeded. 

C. It is placed in the agent pool if the connection is terminated. 

D. It automatically releases the database connection and returns to the pool. 

Correct Answer: C 

 

 

QUESTION 3

Click the Exhibit button. 

In a DB2 Connect scenario between a Windows client and a z/OS server, the commands in the exhibit produced an
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SQL30061N error while trying to connect to the BIGDB001 database in the DB2T subsystem on the z/OS server:
SQL30061N The database alias or database name name was not found at the remote node. Explanation: The database
name is not an existing database at the remote database node. The statement cannot be processed. The z/OS DBA
has confirmed that the LOCATION NAME is DB2T. Which change would enable the command in the exhibit to execute
correctly? 

A. CATALOG DATABASE bigdb001 AS dsample AT NODE db2t AUTHENTICATION DCS 

B. CATALOG DCS DATABASE dsample AS db2t 

C. CATALOG DCS DATABASE db2t AS dsample 

D. CATALOG DATABASE db2t AS dsample AT NODE node001 AUTHENTICATION DCS 

Correct Answer: B 

 

 

QUESTION 4

If your DB2 server is not responding (hung), and you cannot run DB2 commands from the Command Line Processor,
which utility can be used to list the applications currently connected to the database MYDB? 

A. db2dart 

B. db2apptrk 

C. db2acsutil 

D. db2pd 

Correct Answer: D 

 

 

QUESTION 5

Setting the DB2_FMP_COMM_HEAPSZ=0 will result in which the following? 

A. User-defined function calls will be disabled. 

B. In a partitioned environment, infinite communications will be enabled between partitions. 

C. In a partitioned environment, communications will not be buffered. 

D. Non-fenced routines can be invoked, however automatic database maintenance will be disabled. 

Correct Answer: D 

 

QUESTION 6
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Given the following output from the GET DATABASE CONFIGURATION command: 

Which of the following DB configurations listed below will enable circular logging? 

A. LOGRETAIN=CIRCULAR 

B. LOGSECOND=-1 

C. LOGARCHMETH1=OFF and LOGARCHMETH2=OFF 

D. LOGPRIMARY=LOGCIRCULAR and LOGRETAIN=OFF 

Correct Answer: C 

 

QUESTION 7

Which statement is true about clustering indexes in a partitioned database? 

A. The partitioning key column(s) should be added to the clustering index with the INCLUDE option. 

B. The clustering index column(s) should be suffixed by the partitioning key column(s). 

C. The clustering index column(s) should be prefixed by the partitioning key column(s). 

D. The partitioning key column(s) should be added immediately after the column in the clustering index with the highest
cardinality. 

Correct Answer: C 

 

 

QUESTION 8

Which two operators would indicate inter-partition parallelism in an Optimizer Plan? (Choose two.) 

A. LTQ 

B. HSJOIN 
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C. BTQ 

D. IP 

E. DTQ 

Correct Answer: CE 

 

QUESTION 9

A batch application updates a large number of rows within a single transaction. What is one way to help the application
complete quickly? 

A. Code the application to issue a LOCK TABLE statement. 

B. Code the application to issue a LOCK ROW statement. 

C. Increase the group commit count. 

D. Increase the size of the lock list. 

Correct Answer: A 

 

 

QUESTION 10

Which command will prevent prefetching during crash recovery? 

A. db2set DB2_AVOID_PREFETCH=OFF 

B. db2set DB2_AVOID_PREFETCH=ON 

C. db2set DB2_RECOVERY_PREFETCHING=NO 

D. db2set DB2_RECOVERY_PREFETCHING=YES 

Correct Answer: B 

 

QUESTION 11

Which conditions must be met to implement HADR? 

A. Operating systems on primary and standby servers must be the same; DB2 versions need not be the same; and the
databases must have the same bit-size (32 or 64 bit). 

B. Operating systems on primary and standby servers need not be the same; DB2 versions must be the same; and the
databases need not have the same bit-size (32 or 64 bit). 

C. Operating systems on primary and standby servers must be the same; DB2 versions must be the same; and the
databases need not have the same bit-size (32 or 64 bit). 
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D. Operating systems on primary and standby servers must be the same; DB2 versions must be the same; and the
databases must have the same bit-size (32 or 64 bit). 

Correct Answer: D 

 

 

QUESTION 12

Which conditions must be met to implement HADR? 

A. Operating systems on primary and standby servers must be the same; DB2 versions need not be the same; and the
databases must have the same bit-size (32 or 64 bit). 

B. Operating systems on primary and standby servers need not be the same; DB2 versions must be the same; and the
databases need not have the same bit-size (32 or 64 bit). 

C. Operating systems on primary and standby servers must be the same; DB2 versions must be the same; and the
databases need not have the same bit-size (32 or 64 bit). 

D. Operating systems on primary and standby servers must be the same; DB2 versions must be the same; and the
databases must have the same bit-size (32 or 64 bit). 

Correct Answer: D 
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